o

VvV V
0

il

v




AlQ.

13

ul
RO

A

11
11




B

—

_ZO
el

e
I

Y7o




ohe A5 uA o Ao A ¥ ot e

4.

e

X
g

X

Gl

lo

G

SRR

Tl
o

il
=1
i

CERESE

=
=
M= gesyn.

o) A

o
259
(0) 7=k




FHU o 4] HPSE 5740 ALA HERE 3747 Sof Q.
of FEUel A HFEES ¢ 7 AW o, A4 viEEo] g Fs A

T2 LEA 2.

5

®
NS
©)
ol =1




96

ull
KO

A

99

‘ 95Xt IAA F 22|l == 96, 97, 98, 99 YU T

97
98




)
%

+29 570E A F3k

kg Y712

L
1

5 5(ikg)

of F21

25 5 7ol E°l7te &

(e}
T

0
1_2
|
—
2_2
I
i) —
X &
o
—
Il




(=1 ]
r=

>
D= R V)

B

B = AR PA- A2 A%
A = el A% B

SY g5 AA A - B A4S A A4 G
93 X 6 — (98 + 89 + 95 + 92 + 90) = 558 — 464 = 94 &




T2 3029 1s§L o] o] L}g Yt} o]

o
=

ot

2%

111]_1:.
’111_.

Q=

9.

® 280 L

iy

my

on

JI

gy

I+

@o

T ol

mh 5o

ol) o7

Z oo
T o4 5
o T

A

Komp %
,wl,_l(l\




n
2
U
N
N
o2l
2
rlo

10. e B9 2t 457t Hws @ ), [ e
Aasg T2,

7.25x24x[_|

725 x 24 x[_| = 174 x[_|7} 78 F& Ad57t HA 5t
2, F0] 254 o) 2] 71 0 0] F o Az ojof Fyrt.

4x1=4,4=8,4x3=12,4%x4 =16,
4x5=204x6=24, --- A 4x5=202=2 EX&7} 0°]
5B g 571 Soj7lok g




